CHEMICAL REACTIONS LAB WRITE-UP
NET IONIC REACTIONS – DOUBLE DISPLACEMENT.
1)FOR DOUBLE DISPLACEMENT REACTIONS – PRECIPITAION DRIVEN.

a. RECOGNISE  2 SALTS
i. BINARY(2 elements): a METAL and a NONMETAL Ex NaCl, KBr, LiI etc
ii. METAL WITH POLYATOMIC IONS(table E), Na2(SO4), Fe(NO3)3, K3(PO4): NOTE it is a good idea to always put a table E polyatomic ion in parenthesis.
iii. NON METAL WITH POLYATOMIC ION: NH4Cl
b. WRITE THE REACTANTS AS IONS 
c. USE TABLE F TO FIND INSOLUBLE PRODUCTS.
d. USE THE CRISS-CROSS OR WIENER METHOD TO FIND FORMULA.
e. CANCELL SPECTATORS.
f. THE NET IONIOC REACTION IS YOUR ANSWER.
EXAMPLE 1; SILVER NITRATE AND SODIUM CHLORIDE.

a. silver nitrate  AgNO3  - a salt
b. sodium chloride NaCl – a salt

STEP#1 write dissociations

AgNO3  ( Ag+  + NO3-                  NO3-  nitrate on table E
NaCl    (  Na+    +  Cl-  

STEP#2 list the ions on the reactant side.

Ag+  + NO3-   +   Na+   +  Cl-   (
STEP#3 Using table F, find INSOLLUBLE combinations, write as solid products. – these are  the precipitates you observed

Ag+ (aq) + NO3-(aq)  +   Na+ (aq)   +  Cl-(aq)   ( AgCl(s)              

TABLE F – all chlorides are  soluble except for Ag, Pb, Hg     

STEP#3 write spectator ions (those that do not precipitate)
Ag+ (aq) + NO3-(aq)  +  Na+ (aq)  + Cl-(aq)  ( AgCl(s) + NO3-(aq)  + Na+(aq) 

STEP#4 cancel spectator ions 
Ag+ (aq) + NO3-(aq)  +  Na+ (aq)  + Cl-(aq)  ( AgCl(s) + NO3-(aq)  + Na+(aq) 

WRITE NET IONIC EQUATION

Ag+ (aq) + Cl-(aq)  ( AgCl(s) 

WRITE FULL EQUATION

Ag(NO3)  +  NaCl  (  AgCl(s) +  Na(NO3)  

NOTE – put polyatomic ions in parenthesis even when there is only one of them as a precaution.


EXAMPLE TWO:  barium nitrate and sodium carbonate.
Step#1-dissociations:

Ba(NO3)2   (  Ba+2  +  2 NO3-     NOTE: Ba is +2 because it is in group 2

Na2(CO3)     (   2 Na+   +   CO32-    NOTE: CO32- is from table E
Step#2- reactant ions


Ba+2(aq)  +  2 NO3-(aq)  +   2 Na+  (aq) +   CO32- (aq)   
Step#2- fins any precipites from the insoluble rules on table F.
Ba+2(aq)  +  2 NO3-(aq)  +   2 Na+ (aq)  +   CO32-(aq)    (  Ba(CO3)(s)

Ba(CO3)(s) is insoluble because of carbonate rule on table F, most carbonates are not soluble with the exception of group one metals and ammonium. Ba is not covered by either exception.
Step#3 write spectators
Ba+2(aq) + 2 NO3-(aq)  + 2 Na+ (aq)   + CO3-2(aq) (Ba(CO3)(s) +  2 NO3- (aq)  + 2Na+(aq)
Step#4 cancel spectators

Ba+2(aq) + 2 NO3-(aq)  + 2 Na+ (aq)   + CO3-2(aq) (Ba(CO3)(s) +  2 NO3- (aq)  + 2Na+(aq)
Write NET IONIC EQUATION

Ba+2(aq) + CO3-2(aq) ( Ba(CO3)(s) 

